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UIL ACCOUNTING
Invitational 2006-A

Group 1
Identify the account classification of items 1 through 12 by writing the correct identifying letter on your answer sheet AND indicate the decrease side of the account by writing DR for debit or CR for credit.  Both parts of each compound answer must be correct in order for your response to be counted correct.


A. Asset

D. Revenue







DR=debit


B. Liability

E. Cost of Merchandise Sold



CR=credit


C. Capital

F. Expense

  1. Sales Discounts

  2. the value of insurance still in force for the next fiscal period

  3. Transportation In

  4. the value of supplies used this fiscal period

  5. Purchases Discounts

  6. Merchandise inventory on hand that is available for sale in the next fiscal period

  7. Fees earned by a service-oriented business

  8. the amount owed to the state for state sales taxes collected

  9. Accounts Receivable

10. Purchases

11. the amount withdrawn from the business by the owner for personal use

12. the amount owed to a supplier

Group 2
Determine the unknown amount in each of the following independent situations.  The amounts in the Beginning and Ending Balance columns represent normal balances.  Answer questions 13 through 15 by writing the correct amount on your answer sheet.

	Account
	Beginning

Balance
	Ending

Balance
	Other Information

	Owner’s Capital
	54,860
	55,805
	Owner’s withdrawals $6,000

Owner’s investments $10,000

	Accounts Payable
	20,490
	22,610
	Paid on account $48,720

	Prepaid Insurance
	2,710
	1,738
	Premiums paid during the period $1,896


13 . What amount was purchased on account from vendors during the period?

*14. What was the amount of net income or net loss for the period?

15. What amount of insurance expired during the period?

Group 3

For questions 16 through 23, use the following list of account titles to determine the accounts to be debited and credited for the closing entries below.  On your answer sheet, write the identifying letter for the correct account.


A. Patt Barnes, Capital



E. Sales Returns


B. Patt Barnes, Withdrawals

F. Purchases


C. Income Summary



G. Purchases Discounts


D. Sales






H. Utilities Expense

16. To close Purchases Discounts, credit ___.

17. To close Sales Returns, credit ___.

18. To close the owner’s drawing account, debit ___.

19. To close Sales Returns, debit ___.

20. To close Income Summary when there is a net loss, debit ___.

21. To close the revenue account, debit ___.

22. To close the owner’s drawing account, credit ___.

23. To close Income Summary when there is a net income, credit ___.

Group 4

For question #24, write the correct amount on your answer sheet.  Some of the subtotals on a worksheet before net income or net loss is calculated are as follows:

	Income Statement Debit
	$ 169,215

	Balance Sheet Debit
	80,895

	Balance Sheet Credit
	95,400


 *24. What is the amount of the Income Statement Credit column subtotal before net 

      income or net loss is calculated?

Group 5

The following T-account summarizes the activity for fiscal year end December 31, 2005 for a business that started in 1999.  Revenues for 2005 were $64,240 and expenses were $60,180.  The owner made one investment in the business during 2005 and also made withdrawals.

	    Darlene McMann, Capital
	
	

	
	          75,429
	

	
	          15,000
	

	
	                     90,429  
	(footing before closing entries)

	           3,000
	            4,060
	

	
	                     91,489
	(footing after closing entries)


For questions 25 through 34, write the identifying letter of the correct answer on your answer sheet using the following choices.  A choice may be used more than once.

	A. $  3,000
	
	E. $63,180
	
	I. $90,429

	B. $  4,060
	
	F. $64,240
	
	J. $91,489

	C. $15,000
	
	G. $75,429
	
	K. none

	D. $60,180
	
	H. $79,240
	
	


25. the amount of owner investments made in 2005

26. net income for 2005

27. the amount of ending capital that would be found on the balance sheet for

      December 31, 2005

28. the amount of capital on January 1, 2005

29. the amount of capital that would be found in the unadjusted trial balance column of 


the work sheet for 2005

30. net loss for 2005

31. the amount of owner withdrawals for 2005

32. the amount of total business expenses

*33. the amount of capital extended to the balance sheet credit column of the work sheet

34. the amount which only includes owner investments and net profits of previous years

Group 6

Use the following information for Hawkeye Co. to answer questions 35 through 37.  Write the correct amount on your answer sheet.

From Hawkeye’s

General Ledger:                           Accounts Receivable
	(10-1-05)              7,627
	

	
	

	(Oct 2005)  ____?_____
	____?____    (Oct 2005)

	
	

	(10-31-05)             4,587
	

	
	


Hawkeye Co.’s Accounts Receivable Subsidiary Ledger:

           Donna Smitty
                          
Debit
      Credit          Balance

	10-1-05
	
	
	2,475

	Oct 2005
	?
	2,500
	3,025


           Everett Daws

 
    


Debit
      Credit
     
Balance

	10-1-05
	
	
	3,940

	Oct 2005
	?
	5,185
	?


           Jerry Eddins

                

Debit
      Credit
     
Balance

	10-1-05
	
	
	?

	Oct 2005
	450
	100
	?


35. What is the total amount of charges made by all three customers in October?

 *36. What is the balance of the Everett Daws account on 10-31-05?

37. What is the balance of the Jerry Eddins account on 10-31-05?

Group 7

Using the code below, identify how items 38 through 45 would be handled for the December 31, 2005 bank reconciliation of Wang Co. prepared on January 3, 2006.





A. added to the checkbook balance





B. deducted from the checkbook balance





C. added to the bank statement balance





D. deducted from the bank statement balance

38. Wang Co.’s December checks #6298, #6301, and #6302 were not listed on the

      bank statement as cleared items.

39. There was a bank service charge of $15.

40. A deposit on December 29 was not listed among the bank statement deposits for 

      December.

41. Wang Co. paid a vendor using electronic funds transfer and failed to record this

 
transaction in the checkbook.

42. Wang Co.’s check #6299 was recorded on the check stub as $640 and correctly

      cleared the bank as $460.

43. A customer’s check deposited on December 30 by Wang Co. was returned by

      the bank as NSF.  Wang Co. first learned about this upon receipt of the 

      December bank statement.

44. An employee of Wang Co. used the company debit card to purchase postage


stamps and failed to record this in the checkbook.

45. Wang Co. put a stop payment order on Wang’s check #6303 which was written for


$87.64 on December 31, 2005 and mailed on January 2, 2006.  Disregard any


stop payment bank charge as that charge will occur in January 2006.

Group 8

Write the correct amount on your answer sheet for questions 46 through 49, which are independent situations.

 *46. In the first week of operation, an auto lube business reported the following:  taxable 

sales $2,060, non-taxable sales $785, and state sales tax collected $165.  The 

previous three items include customer sales on account for $860.  No bank credit cards were accepted.  The company started and ended the week with $500 in cash on hand.  This cash on hand was originally obtained by the owner who wrote a company check and cashed it at the bank.  During the week the owner used some of the cash in the cash register to purchase small items as follows:  $4 for postage, $25 for advertising in the high school football programs, and $16 for office supplies.  The owner also had three customers pay on their accounts for a total received of $120.  When the cash drawer was checked up at the end of the week, it was neither short nor over.  What was the correct amount of the bank deposit made on Friday for the week?

47.  Your company purchased merchandise on account from a supplier on March 9 for 

$650 with terms of sale of 1/10, n/30.  You paid the invoice on March 18.  What was the correct amount of your check?

 *48. Your company sold merchandise to a customer for $550 plus 8% sales tax, FOB 

destination.  Freight for the shipment was $30, which you paid to Swift Trucking.  How much does your customer owe you upon receipt of your merchandise and invoice?

**49. Your company purchased merchandise on account from Bailey Supply on April 8 for 

$1,560 with terms 2/10, n/30, FOB shipping point.  The freight charge was $158 and 

was paid to Swift Trucking by Bailey Supply.  On April 12 you returned $60 of this 

shipment that was the wrong color and faxed the information regarding the return to 

Bailey Supply.  Bailey Supply used their own company truck to pick up the merchandise to be returned on April 15.  On April 17 you paid the Bailey Supply for the merchandise you kept.  What was the correct amount of your check?

Group 9

Dale Able started a bookkeeping service in August of 2005.  In this month she completed ten transactions which were all journalized and posted correctly.  She correctly prepared the trial balance that follows.

Able Bookkeeping Service

Trial Balance

August 31, 2005

	
	Debit
	Credit

	Cash
	    12,340
	

	Accounts Receivable
	      670
	

	Office Supplies
	        850
	

	Prepaid Insurance
	     1,140
	

	Equipment
	     5,000
	

	Accounts Payable
	
	      4,350

	Dale Able, Capital
	
	     10,000

	Dale Able, Drawing
	      1,500
	

	Fees Earned
	
	      7,570

	Rent Expense
	        420
	  

	
	
	

	Totals
	   21,920
	    21,920


Additional Information:

· The owner withdrawal was for cash.

· All equipment (and only equipment) was purchased on account with no down payment.

· Only one customer made a payment on account and it was for $150.

Analyze the trial balance to determine what the ten transactions were.  For questions 50 through 57, on your answer sheet, write T if the statement is true; write F if the statement is false.

50. The $10,000 entry to the capital account also decreased the Cash account.

51. There was a debit to Accounts Payable for $650.

52. The ten transactions consist of one purchase on account and nine other 

      transactions that affect Cash.

53. The debit to Accounts Receivable was for $670.

54. The total of $7,570 in Fees Earned consists of two transactions: one for a


service provided on account and one for a service provided for cash.

55. The total of the debits to Cash is $16,900.

56. The total of the credits to Cash is $12,340.

57. Fees earned at the time the service was provided that resulted in no


immediate increase to Cash was for $670.

Group 10

Answer questions 58 through 64 by writing the correct amount on your answer sheet.  Refer to Table 1 on page 10.  

Answer the following questions on the basis that all corrections have been made and the trial balance is in balance.  The work sheet has not yet been prepared.
 *58.  What is the correct balance of Cash?

59. What is the correct balance of Accounts Receivable?

60. What is the correct balance of Prepaid Insurance?

61. What is the correct balance of Accounts Payable?

62. What is the correct balance of Sam Lamar, Capital?

63. What is the correct balance of Fees Income?

**64. What is the balancing total of the corrected trial balance? 

Group 11

Refer to the information in Table 2 on page 11 and the work sheet on page 12 for questions 65 through 80.

Answer questions 65 through 72 on your answer sheet using the code:
 T=true  F=false

65. The Income Statement for 2005 will include Sales of $97,535.

66. In October of 2005 Prepaid Insurance was debited for $1,080.

67. The balance of Prepaid Insurance on the unadjusted trial balance of the work sheet

      is smaller than the balance of Prepaid Insurance on the Post-Closing Trial Balance

      dated 1-1-06 by $135.

68. The adjustment to record Sales invoice #73980 includes a debit to Accounts 

      Receivable for $865.

69. To adjust Prepaid Insurance on December 31, 2005, Insurance Expense must be

      debited for a total of $270.

70. The adjusting entry for supplies includes a credit to the asset account called 

Supplies for $4,770.

71. The balancing column total of the adjustment columns is $10,930.

72. The adjustment for inventory includes a credit to Income Summary for $1,380.

Group 11 continued

Continue to refer to Table 2 and the work sheet.  For questions 73 through 80 write the correct identifying letter on your answer sheet.
 *73 . What is the balancing column total for the unadjusted trial balance?


A. $92,990          B. $141,985          C. $148,560          D. $149,940

 ***74. What amount was paid for the insurance policy purchased on October 1, 2004?


A. $675          B. $900          C. $1,080          D. $1,755

 *75. What amount should be reported for Prepaid Insurance on the Balance Sheet of

      December 31, 2005?


A.  zero          B. $810          C. $1,080          D. $1,485          E. $1,755

76. What amount was the beginning balance for 2005 in the general ledger account


called Supplies?


A. $1,605          B. $2,470          C. $6,875          D. $7,740          E. $9,345

77. What is the amount of Cost of Merchandise Available for Sale?


A. $66,120          B. $67,500          C. $68,880          D. $93,550          E. $94,930

78. What is the amount of Cost of Merchandise Sold?


A. $29,520          B. $32,280          C. $66,120          D. $67,500          E. $68,880

 *79. What amount should be reported for Total Expenses on the Income Statement for



the year ended December 31, 2005?


A. $8,040          B. $12,795          C. $16,050          D. $16,725          E. $85,605
  ***80. If the adjustments to insurance and supplies had not been made, net income would


have been


A. overstated by $8,010


C. overstated by $8,685


B. understated by $8,010

D. understated by $8,685
This is the end of the exam.  Please hold your answer sheet and exam questions until the contest director calls for them.  Thank you!

Table 1

(for questions 58 through 64)

	Lamar Gardens

	Trial Balance

	December 31, 2005

	Cash
	6,490
	

	Accounts Receivable
	6,730
	

	Prepaid Insurance
	850
	

	Office Equipment
	8,800
	

	Accounts Payable
	
	5,470

	Rory Rogers, Capital
	
	9,790

	Fees Income
	
	8,000

	Insurance Expense
	650
	

	Rent Expense
	1,200
	

	Utilities Expense
	960
	

	Totals
	25,680
	23,260


The trial balance above is out of balance.  An examination of the records revealed the following:

1. A collection on account for $150 was debited correctly, but was credited to

    Fees Income.

2. The purchase of a six-month insurance policy for $650 on December 31, 2005
    was credited correctly, but was debited to Insurance Expense.

3. A payment on account in the amount of $450 was recorded as $540 for both the

    debit and the credit.

4. Services performed on account in the amount of $3,500 was recorded with a

    debit to Accounts Receivable for $3,500 and a credit to Fees Income for $350.

5. The utilities payment of $85 was recorded with a debit to Utilities Expense for

    $85 and a debit to Cash for $85.

6. An owner withdrawal of $1,000 cash was credited correctly, but was debited to

    the capital account.

7. A payment on account for $900 was credited to the cash account with no debit

    entry made.

Table 2

(For questions 65 through 80)

The new accountant for Cellular Solutions Co. gathered the following information in order to prepare the annual adjusting entries for December 31, 2005.  (The accountant determined that no monthly adjusting entries were made for 2005.)

· The Prepaid Insurance account contains an increase of $1,080 for a one-year policy acquired on October 1, 2005.  The balance of Prepaid Insurance on the unadjusted Trial Balance is $1,755.   The balance in Prepaid Insurance as of 1-1-05 represents nine-twelfths of the policy premium paid on 10-1-04 that expired in 2005 and requires an adjustment.  The premium paid on October 1, 2005 also requires an adjustment for the portion of that policy’s premium that has expired in 2005.  The accountant handled both in one adjusting entry for insurance.

· The balance in the Supplies account on the unadjusted trial balance is $9,345.  Supplies purchased during 2005 were $6,875.  A physical inventory of supplies on December 31, 2005 indicates $1,605 of supplies on hand.

· The balance in the Accounts Receivable account on the unadjusted trial balance is $18,420.  An invoice #73980 for $865 for a tax-exempt sale on account to a customer dated 12-23-05 was originally thought to be voided until a shipping document proved otherwise.  The accountant elected to record Invoice #73980 as an adjusting entry.  The new accountant also made a reminder note to review internal control procedures for recording sales invoices.

· Merchandise Inventory on the unadjusted trial balance is $27,430.  A physical inventory on December 31, 2005 indicates $26,050 on hand.
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	Cellular Solutions Co.

	Work Sheet

	For Year Ended December 31, 2005

	Account Title
	Trial Balance
	Adjustments
	Income Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	8,450
	
	
	
	
	
	
	

	Accounts Receivable
	
	
	
	
	
	
	
	

	Prepaid Insurance
	
	
	
	
	
	
	
	

	Supplies
	
	
	
	
	
	
	
	

	Merchandise Inventory
	
	
	
	
	
	
	
	

	Accounts Payable
	
	4,855
	
	
	
	
	
	

	David Ortega, Capital
	
	47,550
	
	
	
	
	
	

	David Ortega, Drawing
	9,000
	
	
	
	
	
	
	

	Income Summary
	
	
	
	
	
	
	
	

	Sales
	
	97,535
	
	
	
	
	
	

	Purchases
	67,500
	
	
	
	
	
	
	

	Rent Expense
	5,400
	
	
	
	
	
	
	

	Utilities Expense
	2,640
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


